1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

10?

10

1071

1072

[EEY

0.5

7000 GeV pp Z+Jet
- T T T -1 T T T T T
— Filtered jet mass(CA(1.2), 220<p_<300, |y|<2.5) .
B | _
_ ‘/‘ L)\rj\ ]
= u N =
= i S -
— 8-y 7
L 1 [ | o |
= - RN
~ = "
___ //m  CMS —
= Pythia 8.308 default =
C Pythia 8.308 tune-1 7
_— Pythia 8.308 tune-2c —
__ Pythia 8.308 tune-2m ]
_| | | | | | | [ I N | P I T B |_
:l T T T T | T T T T | T a T T T |:
: A\/ o \ R —\H/ \},.// . u

4 ]

I N M 1

0 50 100 150

(m_ 1+m_2)/2[GeV]

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


